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I. Choose the correct option and write in your > ) T w0 A ST R W 2 7 A
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(A) Chalaza is found in 1 & =g fafEu | Yo Vs

(1) Pollen grain
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(iii) Endosperm frfRaa |

(iv) All of these

Y2+ V2
(%) ufEr s o iR s € 2 Yo s

(B) Ina food-chain, human is as : 1 2. (A) What do you understand by sex-linked
) character ? Write the names of any two
(1)  Producer sex-linked characters in human. a4 %
(i)) Decomposers (B) Write the names of any two animals which
(iii) Co er reproduce by regeneration. Y+t
Wri i
(iv) None of these (C) Write the names of any two false fruits. %+ %
(D) Write the names of any two hygrophilous
(C) Which is related with man ? 1 plants. s
() Vasectomy (B Wlmtlareqlhe permanent methods of family
planning ? Lets
(i1) Pills .
(iti) Tubectomy 3. (%) wordn g B @ ol 3= et @ 7
(iv) None of these mm%@@mg ? 1+1
(D) Unit of inheritance is : 1 (®) A L = ! 2
() Genotype () HISH W@ WE-Frgm F 3 wWr R | 2
(i) Chromosome () 3 219 v we e ferooft fofa | 2
(iii) Golgi Body (3) arfEa-met wam & el & Haw & wE
. élﬁﬂq I 2
(iv) Gene .
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Which disease is caused by Entamoeba and
how it can be regulated ? 1+1
Differentiate  between symbiosis and
parasitism. 2
Differentiate between codon and anticodon. 2
Comment upon Green House Effect. 2
Explain the importance of Micro-organisms
in sewage treatment. 2
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Explain the Hardy-Weinberg law. 3

Draw a neat and labelled diagram of
Miller’s experiment. 2+1

Explain the carbon cycle with line diagram.2 + 1

Define antibiotic. Who discovered the
penicillin ? Explain the importance of
penicillin. 1+14+1
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(A) What do you understand by Oogenesis ?
Explain with labelled diagram. 1+2

(B) What is mutation theory ? Who was its
founder ? Explain its improtance., 1+141

(C) Draw a neat and labelled diagram of
reproductive system of man. 241

(D) Describe the development of an embryo of
an angiospermm. 3
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(A) Which are the different species of
Plasmodium ? Give an account on the
different types of malaria caused by them.

1+2
(B) What do you understand by DNA
fingerprinting ? _ 3
(C) Define pollution. How water pollution can
be regulated ? 142
(D) Write short note on : 1% + 1%
() Thalassemia

(ii) Biosphere
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What do you mean Biodiversity ? How it can be

conserved ? 2+3
OR
Write short note on :
(i) Placenta 2Y%
(i) Biofortification - 2%
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What do you understand by threatened species ?

Describe the various measures taken to conscrve
them.

2+3
OR
What do you mean by Addiction ? Describe the
names of main drugs and their etfects. 2+142
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What do you understand by Recombinant DNA
technology ? Describe its application in

medication. 2+3
OR

Define transgenic animals. How they are

developed ? 2+3
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